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BOOKS - ICSE

CONSTRUCTION OF POLYGONS

Exercise 15

1. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AB = 3.2cm, BC = 5.2cm, CD = 6.2cm, DA = 4.2cmandBD = 5.2cm

2. Construct a quadrilateral ABCD, when : 

AB = 7.2cm, BC = 5.8cm, CD = 6.3cm, AD = 4.3cmand angleA = 75∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EK0j4JJs7Ltr
https://dl.doubtnut.com/l/_1FiTzQKUxpH6


.

Watch Video Solution

3. Construct a quadrilateral ABCD, when : 

, 

.

Watch Video Solution

AngleA = 90∘

AB = 4.6cm, BD = 6.4cm, AC = 6.0cm, andCD = 4.2cm

4. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AB = 3.8cm, AC = 4.8cm, AD = 4.3cm, angleA = 105∘ and angleB = 60

5. Construct a quadrilateral ABCD, when : 

BC = 7.5cm, AC = 5.8cm, AD = 3.6cm, CD = 4.2cmand angleA = 120∘

https://dl.doubtnut.com/l/_1FiTzQKUxpH6
https://dl.doubtnut.com/l/_sdbCcbrOM9oD
https://dl.doubtnut.com/l/_OWHqoPho87zd
https://dl.doubtnut.com/l/_6t97pmRrrZpo


.

Watch Video Solution

6. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AD = AB = 4cm, BC = 2.8cm, CD = 2.5cmand angleBAD = 45∘

7. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AB = 6.3cm, BC = CD = 4.2cmand∠ABC = ∠BCD = 90∘

8. Constructed a parallelogram ABCD, when : 

.

Watch Video Solution

AB = 4.4cm, AD = 6.2cmandAC = 4.8cm

https://dl.doubtnut.com/l/_6t97pmRrrZpo
https://dl.doubtnut.com/l/_0kyUrPTYRGQz
https://dl.doubtnut.com/l/_PgyB9mQAOAjy
https://dl.doubtnut.com/l/_VBqvQ8pH3WRH
https://dl.doubtnut.com/l/_rzUjnSg8f1KK


9. Constructed a parallelogram ABCD, when : 

Diagonal , diagonal  and angle between the

diagonals = .

Watch Video Solution

AC = 6.4cm BD = 8.2cm

60∘

10. Constructed a parallelogram ABCD, when : 

, diagonal  and diagonal .

Watch Video Solution

AB = 5.8cm AC = 8.2cm BD = 6.2cm

11. Constructed a parallelogram ABCD, when : 

Watch Video Solution

AB = 6.0cm, AD = 5.0cmand∠A = 45∘

https://dl.doubtnut.com/l/_rzUjnSg8f1KK
https://dl.doubtnut.com/l/_c1NgK6BEL4j7
https://dl.doubtnut.com/l/_KpdB8S1HV4ya


12. Constructed a parallelogram ABCD, when : 

Base  and the altitude corresponding to 

.

Watch Video Solution

AB = 6.5cm, BC = 4cm

AB = 3.1cm

13. Constructed a parallelogram ABCD, when : 

 and the distance between AB and DC = .

Watch Video Solution

AB = 4.5cm, ∠B = 120∘ 3.0cm

14. Constructed a parallelogram ABCD, when : 

Base , diagonal  and altitude = .

Watch Video Solution

BC = 5.6cm BD = 6.5cm 3.2cm

https://dl.doubtnut.com/l/_zzvrygbkdxIQ
https://dl.doubtnut.com/l/_5i2Y3KYkIOJz
https://dl.doubtnut.com/l/_lGiuekypPX4w


15. Construct a rectangle ABCD, when : 

Its sides are .

Watch Video Solution

6.0cmand7.2cm

16. Construct a rectangle ABCD, when : 

One side =  and one diagonal is . Measure the length of other

side.

Watch Video Solution

4cm 5cm

17. Construct a rectangle ABCD, when : 

One diagonal =  and the acute angle between the diagonals = .

Watch Video Solution

6.0cm 45∘

https://dl.doubtnut.com/l/_kX1r6Lzbz70g
https://dl.doubtnut.com/l/_Dcaw7FKnpjLF
https://dl.doubtnut.com/l/_zdmUVmMO5TeN


18. Construct a rectangle ABCD, when : 

Area =  and base = .

Watch Video Solution

24cm
2 4.8cm

19. Construct a rectangle ABCD, when : 

Area =  and height = .

Watch Video Solution

36cm
2 4.5cm

20. Construct a trapezium ABCD, when : 

.

Watch Video Solution

AB = 4.8cm, BC = 6.8cm, CD = 5.4cm, angleB = 60∘ andAD/BC

21. Construct a trapezium ABCD, when : 

.AB = 4.8cm, BC = 6.8cm, CD = 5.4cm, angleB = 60∘ andAD/BC

https://dl.doubtnut.com/l/_9WU7gpjlpfTc
https://dl.doubtnut.com/l/_91grZ9vNbyQ8
https://dl.doubtnut.com/l/_oNMJHiNt8w1O
https://dl.doubtnut.com/l/_uyRKyeJ1PzIH


Watch Video Solution

22. Construct a rhombus ABCD, when : 

Its side = .

Watch Video Solution

6cmand∠A = 60∘

23. Construct a rhombus ABCD, when : 

One side =  and one diagonal is .

Watch Video Solution

5.4cm 7.0cm

24. Construct a rhombus ABCD, when : 

Diagonal  and diagonal .

Watch Video Solution

AC = 6.3cm BD = 5.8cm

https://dl.doubtnut.com/l/_uyRKyeJ1PzIH
https://dl.doubtnut.com/l/_RQdaQJGFLgIC
https://dl.doubtnut.com/l/_Kai4CP1pKcWQ
https://dl.doubtnut.com/l/_UuK3CT74sDE9


25. Construct a rhombus ABCD, when : 

One side =  and height = .

Watch Video Solution

5.0cm 2.6cm

26. Construct a rhombus ABCD, when : 

 and height = .

Watch Video Solution

∠A = 60∘ 3.5cm

27. Construct a rhombus ABCD, when : 

Diagonal  and height = .

Watch Video Solution

AC = 6.0cm 3.5cm

28. Construct a square ABCD, when : 

One side = .4.5cm

https://dl.doubtnut.com/l/_bmqiJageIEsX
https://dl.doubtnut.com/l/_JzsyFD8HrbzC
https://dl.doubtnut.com/l/_0C4L25WzlFDC
https://dl.doubtnut.com/l/_gpx4f3tsQdO3


Watch Video Solution

29. Construct a square ABCD, when : 

One diagonal = .

Watch Video Solution

5.4cm

30. Construct a square ABCD, when : 

Perimeter = .

Watch Video Solution

24cm

31. Construct a rhombus, having given one side =  and one angle =

.

Watch Video Solution

4.8cm

75∘

https://dl.doubtnut.com/l/_gpx4f3tsQdO3
https://dl.doubtnut.com/l/_Ui72XYxMMFGB
https://dl.doubtnut.com/l/_Vfftd6o4JBFP
https://dl.doubtnut.com/l/_mmKK6PEIlSQr


32. Construct a regular hexagon of side 

(i)  

(ii) .

Watch Video Solution

2.5cm

3.2cm

33. Using ruler and compasses only, construct the quadrilateral ABCD,

having given 

and the diagonal .

Watch Video Solution

AB = 5cm, BC = 2.5cm, CD = 6cm, angleBAD = 90∘

AC = 5.5cm

34. Using ruler and compasses only, construct a trapezium ABCD, in which

the parallel sides AB and DC are  aprt, , angle 

 and angle B is obtuse.

Watch Video Solution

3.3cm AB = 4.5cm

A = 120∘ , BC = 3.6cm

https://dl.doubtnut.com/l/_CtlaFdLfOtac
https://dl.doubtnut.com/l/_oS54iGtEHds4
https://dl.doubtnut.com/l/_1K25ehqbNyKP
https://dl.doubtnut.com/l/_5INwBy9bBa7Q


35. Using ruler and compasses only, construct the quadrilateral ABCD,

having given  and

diagonal .

Watch Video Solution

AB = 5cm, BC = 2.5cm, CD = 6cm, ∠BAD = 90∘

BD = 5.5cm

36. Using ruler and compasses only, construct a parallelogram ABCD,

using the following data: . If

the bisector of  meets DC at P, prove that  is a right angle.

Watch Video Solution

AB = 6cm, AD = 3cmand∠DAB = 45∘

∠DAB ∠APB

37. Draw parallelogram ABCD with the following data : 

. 


Let AC and DB in O let E be the mid-point of BC. Join OE. Prove that : 

(i)  


(ii) .

Watch Video Solution

AB = 6cm, AD = 5cmand∠DAB = 45∘

OE/AB

OE = AB
1

2

https://dl.doubtnut.com/l/_5INwBy9bBa7Q
https://dl.doubtnut.com/l/_NMhUaRwkltrN
https://dl.doubtnut.com/l/_nVhZXciU5pRq


38. Using ruler and compasses only, construct a rectangle each of whose

diagonals measure  and diagonals intersect at an angle of .

Watch Video Solution

6cm 45∘

39. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AB = 3.2cm, BC = 5.2cm, CD = 6.2cm, DA = 4.2cmandBD = 5.2cm

40. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AB = 7.2cm, BC = 5.8cm, CD = 6.3cm, AD = 4.3cmand angleA = 75∘

https://dl.doubtnut.com/l/_nVhZXciU5pRq
https://dl.doubtnut.com/l/_G6tWUOI2oHDG
https://dl.doubtnut.com/l/_BlgJAY5e6JED
https://dl.doubtnut.com/l/_zvGOgcs9rDRx
https://dl.doubtnut.com/l/_KL1cMnGF5UFA


41. Construct a quadrilateral ABCD, when : 

, 

.

Watch Video Solution

AngleA = 90∘

AB = 4.6cm, BD = 6.4cm, AC = 6.0cm, andCD = 4.2cm

42. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AB = 3.8cm, AC = 4.8cm, AD = 4.3cm, angleA = 105∘ and angleB = 60

43. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

BC = 7.5cm, AC = 5.8cm, AD = 3.6cm, CD = 4.2cmand angleA = 120∘

https://dl.doubtnut.com/l/_KL1cMnGF5UFA
https://dl.doubtnut.com/l/_NhagflT3hGC7
https://dl.doubtnut.com/l/_cQIzwhO7eLJz


44. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AD = AB = 4cm, BC = 2.8cm, CD = 2.5cmand angleBAD = 45∘

45. Construct a quadrilateral ABCD, when : 

.

Watch Video Solution

AB = 6.3cm, BC = CD = 4.2cmand∠ABC = ∠BCD = 90∘

46. Constructed a parallelogram ABCD, when : 

.

Watch Video Solution

AB = 4.4cm, AD = 6.2cmandAC = 4.8cm

47. Constructed a parallelogram ABCD, when : 

Diagonal , diagonal  and angle between theAC = 6.4cm BD = 8.2cm

https://dl.doubtnut.com/l/_fiEqWsbgos5i
https://dl.doubtnut.com/l/_rjOBta8AoWS1
https://dl.doubtnut.com/l/_u6pjcV12nvFL
https://dl.doubtnut.com/l/_JXwkczNxtedN


diagonals = .

Watch Video Solution

60∘

48. Constructed a parallelogram ABCD, when : 

, diagonal  and diagonal .

Watch Video Solution

AB = 5.8cm AC = 8.2cm BD = 6.2cm

49. Constructed a parallelogram ABCD, when : 

Watch Video Solution

AB = 6.0cm, AD = 5.0cmand∠A = 45∘

50. Constructed a parallelogram ABCD, when : 

Base  and the altitude corresponding to 

.

Watch Video Solution

AB = 6.5cm, BC = 4cm

AB = 3.1cm

https://dl.doubtnut.com/l/_JXwkczNxtedN
https://dl.doubtnut.com/l/_qWbqVvLLX3CO
https://dl.doubtnut.com/l/_WSoIXjIAmadj
https://dl.doubtnut.com/l/_Ia16GSr1Ad12


51. Constructed a parallelogram ABCD, when : 

 and the distance between AB and DC = .

Watch Video Solution

AB = 4.5cm, ∠B = 120∘ 3.0cm

52. Constructed a parallelogram ABCD, when : 

Base , diagonal  and altitude = .

Watch Video Solution

BC = 5.6cm BD = 6.5cm 3.2cm

53. Construct a rectangle ABCD, when : 

Its sides are .

Watch Video Solution

6.0cmand7.2cm

https://dl.doubtnut.com/l/_Ia16GSr1Ad12
https://dl.doubtnut.com/l/_ZQsOQVtIOjNU
https://dl.doubtnut.com/l/_xzwzHuSC79Wn
https://dl.doubtnut.com/l/_bL2dM0nRj8im


54. Construct a rectangle ABCD, when : 

One side =  and one diagonal is . Measure the length of other

side.

Watch Video Solution

4cm 5cm

55. Construct a rectangle ABCD, when : 

One diagonal =  and the acute angle between the diagonals = .

Watch Video Solution

6.0cm 45∘

56. Construct a rectangle ABCD, when : 

Area =  and base = .

Watch Video Solution

24cm
2 4.8cm

https://dl.doubtnut.com/l/_X697UH02MyW2
https://dl.doubtnut.com/l/_i3l2dklOa41Q
https://dl.doubtnut.com/l/_WwmeLJLIhO2Q


57. Construct a rectangle ABCD, when : 

Area =  and height = .

Watch Video Solution

36cm
2 4.5cm

58. Construct a trapezium ABCD, when : 

.

Watch Video Solution

AB = 4.8cm, BC = 6.8cm, CD = 5.4cm, angleB = 60∘ andAD/BC

59. Construct a trapezium ABCD, when : 

.

Watch Video Solution

AB = CD = 3.2cm, BC = 6.0cm, AD = 4.4cmandAD/BC

60. Construct a rhombus ABCD, when : 

Its side = .6cmand∠A = 60∘

https://dl.doubtnut.com/l/_OP9vx2qGev5M
https://dl.doubtnut.com/l/_j2UYvcSdoO7g
https://dl.doubtnut.com/l/_YO4KB1UfS6ol
https://dl.doubtnut.com/l/_5pPnPVA0HDOH


Watch Video Solution

61. Construct a rhombus ABCD, when : 

One side =  and one diagonal is .

Watch Video Solution

5.4cm 7.0cm

62. Construct a rhombus ABCD, when : 

Diagonal  and diagonal .

Watch Video Solution

AC = 6.3cm BD = 5.8cm

63. Construct a rhombus ABCD, when : 

One side =  and height = .

Watch Video Solution

5.0cm 2.6cm

https://dl.doubtnut.com/l/_5pPnPVA0HDOH
https://dl.doubtnut.com/l/_GGNNy0CWlFfw
https://dl.doubtnut.com/l/_9pQsKfX4dyOh
https://dl.doubtnut.com/l/_sPrsF2oD3tXE


64. Construct a rhombus ABCD, when : 

 and height = .

Watch Video Solution

∠A = 60∘ 3.5cm

65. Construct a rhombus ABCD, when : 

Diagonal  and height = .

Watch Video Solution

AC = 6.0cm 3.5cm

66. Construct a square ABCD, when : 

One side = .

Watch Video Solution

4.5cm

67. Construct a square ABCD, when : 

One diagonal = .5.4cm

https://dl.doubtnut.com/l/_a0iCtpRUTYbd
https://dl.doubtnut.com/l/_ySZpf5t6OZ0b
https://dl.doubtnut.com/l/_f8IUHTTCIJpf
https://dl.doubtnut.com/l/_DNMI0gFYK5Yu


Watch Video Solution

68. Construct a square ABCD, when : 

Perimeter = .

Watch Video Solution

24cm

69. Construct a rhombus, having given one side =  and one angle =

.

Watch Video Solution

4.8cm

75∘

70. Construct a regular hexagon of side 

(i)  

(ii) .

Watch Video Solution

2.5cm

3.2cm

https://dl.doubtnut.com/l/_DNMI0gFYK5Yu
https://dl.doubtnut.com/l/_L9Tgi4QdMefN
https://dl.doubtnut.com/l/_tX0r0bzT2yPq
https://dl.doubtnut.com/l/_bNYBs0zoKNlY
https://dl.doubtnut.com/l/_7fONRJM715Zl


71. Using ruler and compasses only, construct the quadrilateral ABCD,

having given 

and the diagonal .

Watch Video Solution

AB = 5cm, BC = 2.5cm, CD = 6cm, angleBAD = 90∘

AC = 5.5cm

72. Using ruler and compasses only, construct a trapezium ABCD, in which

the parallel sides AB and DC are  aprt, , angle 

 and angle B is obtuse.

Watch Video Solution

3.3cm AB = 4.5cm

A = 120∘ , BC = 3.6cm

73. Using ruler and compasses only, construct the quadrilateral ABCD,

having given  and

diagonal .

Watch Video Solution

AB = 5cm, BC = 2.5cm, CD = 6cm, ∠BAD = 90∘

BD = 5.5cm

https://dl.doubtnut.com/l/_7fONRJM715Zl
https://dl.doubtnut.com/l/_BBw7bbgupjxG
https://dl.doubtnut.com/l/_BNM9HVWZXIUM


74. Using ruler and compasses only, construct a parallelogram ABCD,

using the following data: . If

the bisector of  meets DC at P, prove that  is a right angle.

Watch Video Solution

AB = 6cm, AD = 3cmand∠DAB = 45∘

∠DAB ∠APB

75. Draw parallelogram ABCD with the following data : 

. 


Let AC and DB in O let E be the mid-point of BC. Join OE. Prove that : 

(i)  


(ii) .

Watch Video Solution

AB = 6cm, AD = 5cmand∠DAB = 45∘

OE/AB

OE = AB
1

2

76. Using ruler and compasses only, construct a rectangle each of whose

diagonals measure  and diagonals intersect at an angle of .

Watch Video Solution

6cm 45∘

https://dl.doubtnut.com/l/_C67d9YmdKc0Z
https://dl.doubtnut.com/l/_ZIGyLyHVU2Dr
https://dl.doubtnut.com/l/_48GkQJxX4aCc



